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s LDCB= £ BCM- £ DCM =45°, " AAEC AFAD;
. £ DCB+ /£ DAB=90°, 20. (1)1?591 “ABJEOO MHERE,
VUiHIE ABCD XA VUHTE s ZADB=90°,
Wik (N) " 0C//BD,
] s LAEO= £ADB=90° 1l OC LAD,
1.B 2B 3A 4C 5D 6A 7.C 8B -~ AE=ED
9.A 10.B (2)ff#: OCLAD,
= JETH - AC=CD,
1L LS 0 NG, BL 8 em K420 12.90 cm s LABC=/CBD=36°,
1+f s LAOC=2/ ABC=2x36°=72°,
13.(3,33) 146 1521w 16.12 17. 5 TS
= MRES YT o180 T
B 2@ - 5°
18.(1)IEMA . %45 oc, c §=1"T0 s

360
s AC=BC, 4 (“‘ 21. (1) kBT %42 AD,

. LAOC = £BOC, ¥ CD
» X - AB WEA%, . LADB=90°,. AD L BC,
LOA,CELOB,

. CD=CE;
(2)f# . LAOB=120°,
. LAOC= L BOC=60°, E

o /. CDO=90°, F
- 20CD=30°,

1
. OD=—0C=1,
2

-~ CD= v 0C-0D* = /27 =17 =3, G
A + AB=AC,.. BD=CD,

AOCD E’Jﬁ /\—iXODXCD=7, 1

+A0=0B,.. OD=7AC,OD//AC,

, 1 J3
[RIFEAT 15, AOCE E@WE{:?xOExCE:?, ~ DF OO Y4, .. OD LDF,. . AC L DF,
fﬁ - Wil J¥ ABDE WH#: F | 0, .. 2DEC
- VUi DOEC TR = 7=J§. ZABD,
19. (1) fi#. 5 C VL AD I ERMIA L,  AB = AC, .. LABD = LACB, . /DEC
. LACD=90°, £ACB,
-~ DE=DC,
Lz ZH _ 2 2 _ 2 2 _
L) B B4 AD = VACP+CD* = /3 +1% = - EF=CF;
/10, A " BD 3
LB VLAD R L (2)RUAABD 1, cos £ABC="p =",
. LAED=90°, AB=10, .. BD=6,AC=10,

£ RUAADE ", £ DAE=30°,
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1 1
S DC=BD=6, S, :TCD ) ADZTAC .

24
DF ,10DF=6x8, DF =",
. 24, 3
MARGER AR = [8-(2)" =
22.(1)IE] %42 OF,
o LBy BE 58 AC ¥ D, .. LCBE=

L ABE.

EF/JAC, .. LCAE=/FEA.
© L OBE=/ OEB, . CBE= / CAE,
. L FEA= / OEB.
+ LAEB=90° .. L FEO=90°.
o EF 200 Y4,
(2)fi# . AE AFEA 5 AFBE W,
© LF=/.F, /FEA= /L FBE,
. AFEA“ AFBE,
EF BF BE’
. AF - BF=EF - EF,
SAFX(AF+15)=10x10, fi#18 AF=5.
BF=20.
L 10_ak
"20 BE’
AB OO BER,. . LAEB=90°,
~ AEP+BE* =157,
L AE*+(24AE)*=225,
AE=35.

E=2AE,

MikE (1)
— JEES
1D 2A 3D 4B 5C 6B 7.0 8B 9B
10.B
— AT
1L R
60 17.6
= BES
18.f% . (1) W&, AA, 0B, N F{E;
(2)0A=/2°+3* = /13

12.13 13.C 14.70 15.5SS 16.

b, e et o e = 20T

D L OB hie

oS
T~

W
K
'
\vS)
,
[\S)
=
H L O
-
.
“
D
N
=V

B

V13
I— |

2
19. 1% . (1) WA, AD HJFfE.
(2)7E RtAABC H1 \BC= /6*+82 =10,

1 1
o —AD - BC=7AB - AC,

2
AD=@=4.8.
10
A
/
B D C

20.1#% . (1)t , CD A e,

B ‘ c
(2) LACE= £ ABC, /. CAE= £/ BAC,
. AACEv~ AABC,

. AE.AC=AC:AB,
Hi AE:6=6.8,
AE:%.

21.f#% . CD//AB,
. AEAB AECD,
. CD_DE l— 3
""AB BE’ ' AB 3+BD
+ FG//AB,
. AHFG~ AHAB,
~FG_HG 5

" AB HB’ ﬂ@ BD+5+5®

5
L2 3+BD BD+5+5

f#i% BD=1.5,

@,
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o 2_ 3

T AB T 71.5+3

S WITAT AB BUESEE R 7 m.
22. (1) UnE 1. 45 0 BT,

Jfif8 . AB="1.

&2

= AD 4y £ BAC,

. L DAC= 2/ DAB,

. CD=BD,

. ODL1BC,

. CF=BF,/ CFD=90°,

" DE J2Y)4k,

~DELOD,

. LEDF=90°,

AB RHR,

. LACB= £ BCE=90°,

- PUihT¥ DECF 5T,

L LE=90°,
. AE L DE.
@ W#1J¥ DECF 2%,
. DE=CF=BF=3,
1E RIAACB T ,AB= /22+6 =2 /10,

zﬂzﬂa@ﬂémq:% e (J/10)?=5m
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